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Run 5480 mpswise, BCM: All Run 5480 mpswise, BCM: Beam OFF
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Run 5480 mpswise, bpmAx: All Run 5480 mpswise, bpmAx: Beam OFF
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Run 5480 mpswise, bpmBy: All Run 5480 mpswise, bpmBy: Beam OFF

[

x10 —
000 - Entries: 400708 12000 — - Entries: 15356
: Mean: 0ERET 4~ 0.0005 : Meary: 08602 &/- DUDO2E
250 — Sid Dev: 03014 4/ 0.0003 10000 [ Sid Dev: 03646 - 0.0019
200 — 8000 —
150 — 6000 —
100 — 4000 —
50— 2000 —
,D_||||||||||||.|]_L|| [ N T T T T A A A A A N A D_IllllllllllI-.j-._ll_'-llllIII|III|III|III|III|
-6 —4 -2 0 b 4 6 8 10 12 —B —4 —£ 0 2 4 6 8 10 12
bpmBy bpmBy
Run 5480, mpswise, bpmBy: Beam ON, Laser ON Run 5480, mpswise, bpmBy: Beam ON, Laser OFF
10000 — Entries: 203080 - Entries: 163606
— 10000 —
| Mean: 0ET20 +- 00001 | Mean: 0UEEES +- 0,000
3000 B Sitd Dy 000332 & 00001 : Sibd D 0,035 o~ 00001
| 8000 —
6000 _— 6000 —
4000 _— 4000 —
2000 — 2000 —
'D_'I""'_'L" A T T N N N N T A N I B I N O N A B D_|||J_l I T S TR NN (N S R B
0.5 0.55 0.6 .65 0.7 0.75 0.8 0.85 0.5 0.9

. . . 1
bpmBy bpmBy



AccO/NAccO

AccO/NAccO

16—

14

12

10

16

14

12

10

Run 5480 mpswise, beam ON, laser ON

_lllllllllIII|III|III|IE_ia.

TIRIRAL

100 200 300 400 500 600 700 BOO
mpsCoda

Run 5480 mpswise, beam OFF, laser ON

_|_III|III|III|III|III|III|III|III|

D P T A ST T T T

100 200 300 400 500 600 700 BOO
mpsCoda

«10°

*10

Accl/MNACCD

Accl/NACeD

16

14

12

10

16

14

12

10

Run 5480 mpswise, beam ON, laser OFF
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Run 5480 mpswise, beam ON, laser ON Run 5480 mpswise, beam ON, laser OFF
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Run 5480 mpswise, beam ON, laser ON
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